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<Xl &> (&9 @ &)
& = =5%s | G w| 222 4 B 2 (29 8)
2 & = Ol &4 (A) (B) (A - B)

SOtREI DAAIE2 S 9l 23 1,600,000

RSN WA ALE 2l 3] 2l ] 800,000

AZIEAEL D> WAAE OIS 9| 1,600,000

2tz -2 AFE 2 2l H| 23] 800,000

=HEE0 DA AFE2E(1,000,0008) 1,000,000

IMESX I W2AFS 9 H| (30H *23] x20,000) 1,200,000

<HZASHNAE> W2AFR] 2l HI (15% «23] %20, 01 600,000

AMZACIX QI T- AN 23 2l H| 23] 880,000

OtS0l1=52 %3] 9/H|:20,0002 *23| x 122 =480, 000 480,000

OICIHEZ0 2w - ZAHE 25| 600,000

NS HD DAAESI5E 2Hl 23] 800,000

SAMEY w2 AFE 2159 (520,000) 520,000

SHM=0 DAAESIE (440,000) 440,000

CIXIE0ICIC w2 ALE o3l ol H| 23] 800,000

IHECI AT MAALE S8 XSiH| (= 800,0008!) 800,000

FHeCINCD2ALE QIS XIEH| (360,000) 360,000

HIMQITH w2ANE 23| ol H| 23] 800,000

AEOHNLIX - 2ZAFE 2 3| 2| H| 800,000

ITHIRELIAI-NZAE 21 3] 2l H| 23] 800,000

FOtW S MSEHESA 235 2H 23 1,800,000

RN LSt S22 3 1,400,000
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=2 ct = = oF
- G — = - ;‘lﬁg?o%!) 6o s | S & B 2 (29 9)
=} S = - (B) (A - B)

mEns -~ WA ZA A 16,320,000
-2 AFBIHA =8I (168 0t*10,000& *23] ) 2,800,000
~EHu 2R3 2| : 4,000&*30Y *243] 2,880,000
&AM QA 04,0002 *200H x43] 3,200,000
-~NRAAEEIIARAZ 328l 50,0002 *7H 2 700,000
—NRALHRARASG F2Hl - 100,000& x53] 500,000
—WZAFE OIS (SN 2)45]+8 0| Y 23] 1,600,000

[DastsHEH]
-—ustsdyH 29 AJ3 224l ¢ 100,000 600,000

[NCSKI & M E1]
-NCS 2g <3 S 102/*100,000& 1,000,000
Sk ot - ST AR F 2H]:40%*100,000& 1,000,000
=20 SJIE ¥ 2AEA/E o 1,000,000
o ARAHE NHAH SN 3,400,000
22l 2K 1 25| *7H 20,000 280,000
HMXHHE S HBIAIY 2 & 3| 9H| 200,000
HEENNY <MBAFUE> DS EAH R 3(430,000) 430,000
OICIOI 20 ZNIEAH I & HI2EEF 3] (1, 240,000) 1,240,000

4237 B AHH| 49,750 70,550 A20,800

EPint <EASAT JGEUD> ANEESE 10,500,000
mE sy <Y SHA> 6,550,000

_33_



<X &> (&9 : E¥)
i, = 2019 = x| z(a)2
= = = O]T-éﬁ(’ii) Ol (%*)‘l.“ (A - B) & 2 2 A (29 &)
michn’ <EYA> 12,500,000
=T - DEY KAAE SAES 600,000
=N S ImlIERN 9,600,000
-DEY EEH HA 5,000,000
~JIEF I LY B ALY/ E1 2 Al 5,000,000
4238 11| 5,800 7,520 A1,720
neal SEEN 22 OAZY Ol 200,000
=AY DY CIAZ ol 200,000
CHBHOllbH &S 2H| 8IH R *120,0008! 960,000
- DEAWA ASLSH LY 2T 1,580,000
SQUEACL ZHl 223%130,0002 2,860,000
4300 HPEMAH| 4,874,082 5,086,004 N211,922
4310 A-1H| 35,500 62,500 A27,000
4311 A 2d| 25,500 45,000 219,500
misin’ -st2 1| 10%%2,500,0002 25,000,000
- S HLHI(NCS, AtSl 2 & &) : 167K 8t 1t 500,000
4312 222l 10,000 17,500 27,500
i -JlEr P22l ] 10,000, 000
4320 SMAH| 4,838,582 5,023,504 A 184,922
4321 WUHEE = 3,020,000| 3,100,000 80,000
=P - sty Fea 2,416,000,000
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FOtW = HOPE_H)NCSE Z D= SE&NS 7,000,000

RSN NCS& 2 & &2 8H(1,985,000) 1,985,000

AZE A0 [>NCSE 23 & 248 (4,800,000) 4,800,000

>NCSE H I =8 & W= (7,990,000) 7,990,000

2tz NCSE RS &SR (18E-18D]) (23,870,000 23,870,000

=HEE NCSE YD X8 ZW=(8,000,0008) 8,000,000

NCS&! 28 & 24 8H(3,080,0002 ) 3,080,000
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OICIH20IZNCSE 2 S &S (7,998,000) 7,998,000
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